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AR - %9 40 - - - £ 40
=HE - #9 1,900 - # 10 - %9 1,900
WEE #9 4,300 #9 600 - #9 100 #9 30 #9 5,100
EHFE #9500 #9 1,400 - £ 80 910 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #3600 | #4 28000 #9 500 #2900 | #4 198,000
B #9 183000 |  #4 18000 #J 1,800 #9400 | #9 34000 | #9 236,000
=58 #9 141,000 #5800 | #4 28000 #1800 | #913000| #J 188000
HEE #9 5500 #9 2,400 - #5 70 #9 50 %49 8,000
RAR AT #9 7500 #49 3400 - # 30 80| #3 11,000
KB FF #9 38000 |  #9 14,000 #9 30 #1100 | #936000| %9 88000
EEER #9 20,000 #9 3,100 #9 1,300 #9 200 #7200 #4 25000
ZRE& #9 21,000 #9 4900 - #9 200 #1100 #4 26,00
LR #9 81,000 #9 4500 | #9 16,000 #1600 #915000| #9 118000
BHE - #9 300 - - - %9 300
SRR - #3 500 - - - #9 500
fE L e #J 14,000 #J 5000 # 50 %9 200 #7200 #49 19,000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #160| #3 23000
=]} #9 1,000 #9 2,900 #9 1,400 # 50 £ 10 %9 5,300
mER #9 76,000 %9 3,800 %9 3,100 #9 500 #8700 | #4 92,000
EINE #9 28,000 %7 4,100 %9 400 %9 100 #7500 | %4 34,000
ZiER #9 96,000 #6800 | %4 10000 #9 400 #9 7500 | %9 121,000
S8 #9 147,000 #1200 | #3 21000 #5 1,100 #78800 | #Y 179,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9 200 - - #5200
REEXE #9510 #9 2,900 #3920 #3920 #9110 #9 2,900
KRR #9 2,100 92400 | %9 12,000 #5 300 % 20 #9 17,000
=GR #9 31,000 #3700 | #9 21,000 #9 400 #9 2300 | %3 58000
BERER #9 80 #9 4,400 #9 800 # 20 - %9 5300
PREE - - #9 50 - - #9 50

=K1 #91071,000 | %9 119000 | #3 156,000 #9 6600 | #9 129000 | #91,481,000
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(MEBF NKEEKTEHT—R
LEREH R BRI —R, BRSO, 2RKR. BE 8n/s)

(#)
mho | mke | oam | PEER O it

R - - 10 - - #7510
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - #9 50 #9 1,800 - - #9 1,800
HIRED - #9 800 #9 900 - #9 20 #9 1,800
EIN #9510 #9500 #9 2,700 - £ 20 #3300
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 40
=HE - #9 1,900 - # 10 - %9 1,900
T #9 4,300 %9 600 - # 100 #7 30 %9 5,100
EHFE #9500 #9 1,400 - £ 80 910 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #3600 | #4 28000 #9 500 #3500 | #4 199,000
B #9 183000 |  #4 18000 #J 1,800 #9400 | #936000 | #9 239,000
=58 #9 141,000 #5800 | #4 28000 # 800 | #914000| #J 190,000
HEE #9 5500 #9 2,400 - #5 70 #9 50 %49 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #9 38000 |  #9 14,000 #9 30 #7100 | #950000 | #4 102,000
EEER #9 20,000 #9 3,100 #9 1,300 #9 200 #7900 | %4 26,00
ZRE& #9 21,000 #9 4900 - #9 200 #1500 | %4 26,000
LR #9 81,000 #9 4500 | #9 16,000 #1600 #919000 | #4 121,000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
fE L e #J 14,000 #J 5000 # 50 %9 200 #7900 | #4 20000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #160| #3 23000
o8 #9 1,000 #9 2,900 #9 1,400 # 50 £ 10 %9 5,300
mEE #9 76,000 #9 3800 #9 3,100 #3 500 #98900 |  #35 93000
FIINE %9 28,000 %7 4,100 %9 400 %9 100 #1300 | %4 34,000
ZiER #9 96,000 #7 6800 | #9 10,000 #3400 | #912000 | #3 126,000
S8 #9 147,000 #1200 #39 21,000 #5 1,100 #912000 | #3 182,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9 200 - - #5200
REEXE #9510 #9 2,900 #3920 #3920 #9110 #9 2,900
KRR #9 2,100 92400 | %9 12,000 #5 300 % 20 #9 17,000
=GR #9 31,000 #3700 | #9 21,000 #9 400 #3200 | #3 59,000
BERER #9 80 #9 4,400 #9 800 # 20 - %9 5300
R - - #9 50 - - #4750

=K1 #91071,000 | %9 119000 | #3 156,000 #9 6600 | #5 163000 | #91,515000
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(MEBF NKEEKTEHT—R
LEREH RS BRI —R, BRSO, B 128, FHEE)

(#)
mho | mke | oam | PEER O it

LR - - #9310 - - 5 10
mARE - - - - - -
HER - - - - - -
BER - #3 600 - - 9 10 #9 600
TER - #350 |  #91.800 - #5910 %9 13800
9 - #9800 #9 900 - #5 40 #9 1,800
HRIIR #9 10 500 | #9 2,700 - %20 %9 3300
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - #910 - £9 1,900
WEE #9 4,300 #9 600 - #9 100 #9 30 #9 5,100
EHFE #9500 #9 1,400 - £ 80 910 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #3600 | #4 28000 #9 500 #3700 | %4 199,000
B #9 183000 |  #4 18000 #J 1,800 #9400 |  #9 39000 | #9 242,000
=58 #9 141,000 #5800 | #4 28000 #1800 | #916000| #J 191,000
HBER #9 5500 #9 2,400 - #5 70 #9 50 %49 8,000
RAR AT #9 7500 #9 3400 - #9 30 #1100 #9 11,000
KB FF #9 38000 |  #9 14,000 #9 30 #100| #941000| #993000
EEER #9 20,000 #9 3,100 #9 1,300 #9 200 #1500 | %4 26,000
ZRE& #9 21,000 #9 4900 - #9 200 #1100 #4 26,00
LR #9 81,000 #9 4500 | #9 16,000 #1600 #919000 | #4 122000
BHE - #9 300 - - - %9 300
SRR - #3 500 - - - %3 500
fE L e #J 14,000 #J 5000 # 50 %9 200 #7300 #49 19000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #70] #3 23000
=]} #9 1,000 #J 2,900 #9 1,400 # 50 £ 10 %9 5,300
mEE #9 76,000 %9 3,800 %9 3,100 #1500 #911000| #9 94000
FIINE #J 28,000 %7 4,100 %9 400 # 100 #7900 | %4 34,000
ZiER #9 96,000 #6800 | %4 10000 #9 400 #9 9200 | #9 123000
S8 #9 147,000 #1200 #39 21,000 #5 1,100 #711000 | %3 181,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9 200 - - #5200
REEXE #9510 #9 2,900 #3920 #3920 #9110 #9 2,900
KRR #9 2,100 92400 | %9 12,000 #5 300 £ 20 #9 17,000
=GR #9 31,000 #3700 | #9 21,000 #9 400 #93300 | %3 59,000
BERER #9 80 #9 4,400 #9 800 # 20 #9110 %9 5300
R - - #9 50 - - #4750

=K1 #91071,000 | %9 119000 | #3 156,000 #9 6600 | #9 154,000 | #91,506,000
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(MEBF NKEEKTEHT—R
LEREH GUES : BRI —R, BRSO, B 128, BE 8m/s)

(#)
mho | wke | @k | FEER L it

R - - 10 - - #7510
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - #9 50 #9 1,800 - #9 10 #9 1,800
HIRED - #9 800 #9 900 - #9 40 #9 1,800
EIN #9510 #9500 #9 2,700 - £ 20 #3300
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - # 10 - %9 1,900
T #9 4,300 %9 600 - # 100 #7 30 %9 5,100
EHFE #9500 #9 1,400 - £ 80 910 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #3600 | #4 28000 #9 500 #4300 | #4 200,000
B #9 183000 |  #4 18000 #J 1,800 #9400 | #9 42000 | #9 245000
=58 #9 141,000 #5800 | #4 28000 #1800 | #917000| #J 192,000
HBER #9 5500 #9 2,400 - #5 70 #9 50 %49 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #9 38000 |  #9 14,000 #9 30 #1100 | #959000 | #4 112000
EEER #9 20,000 #9 3,100 #9 1,300 #9 200 #1400 | %4 26,00
ZRE& #9 21,000 #9 4900 - #9 200 #1500 | %4 26,000
LR #9 81,000 #9 4500 | #9 16,000 #1600 | #923000| #4 125000
BHE - #9 300 - - - %9 300
SRR - #3 500 - - - %3 500
fE L e #J 14,000 #J 5000 # 50 %9 200 #1100 %4 20000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #70] #3 23000
o8 #9 1,000 #9 2,900 #9 1,400 # 50 £ 10 %9 5,300
mEE #9 76,000 %9 3,800 %9 3,100 #1500 #911000| #9 94000
FIINE #J 28,000 %7 4,100 %9 400 %9 100 #1800 | #4 35000
ZiER #9 96,000 #7 6800 | #9 10,000 #3400 | #915000 | #3 128000
S8 #9 147,000 #1200 #39 21,000 #5 1,100 #9 14000 | %3 184,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9 200 - - #5200
REEXE #9510 #9 2,900 #3920 #3920 #9110 #9 2,900
KRR #9 2,100 92400 | %9 12,000 #5 300 £ 20 #9 17,000
=GR #9 31,000 #3700 | #4 21,000 #9 400 #4100 | #49 60,000
BERER #9 80 #9 4,400 #9 800 # 20 #9110 %9 5300
R - - #9 50 - - #4750

=K1 #91071,000 | %9 119000 | #3 156,000 #9 6600 | #9 194,000 | #4 1,546,000
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(MEBF NKEEKTEHT—R
LEREH RS BRI —R, BRSO, £ 18 B, FHEE)

(#)
mho | mke | oam | PEER O it

LR - - #9310 - - 5 10
mARR - - - - - -
HER - - - - - -
BER - #3 600 - - #9 50 #9 600
TER - #350 |  #91.800 - #910| %9 13800
SRR #D - #9 800 #9 900 - #9100 | %9 1,900
HRIIR #9 10 500 | #9 2,700 - #790 |  #9 3400
HRR - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - # 10 #9510 #9 1,900
T %9 4,300 #9 600 - #9 100 £9 200 #49 5,300
EHE #9500 #49 1,400 - #9 80 %9 40 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #7300 #4 6,400
B2 IR #9 163,000 #3600 | #4 28000 #1500 | #928000| #J 223000
B #9 183000 |  #4 18000 #J 1,800 #9400 | #9 123000 | #9 326,000
=58 #9 141,000 #5800 | #4 28000 #1800 #941000| #j 217,000
HEE #3 5,500 #9 2,400 - 70 #9 1,000 #9 9,000
RAR AT #9 7500 #49 3400 - #9730 | #946000| #y 57,000
KB FF #9 38000 |  #9 14,000 #9 30 #7100 | #4 243000 | #4 295000
EEER #9 20,000 #9 3,100 #9 1,300 #200| #913000| #9 38000
ZRE& #9 21,000 #9 4900 - #9 200 % 6,700 | %4 33000
LR #9 81,000 #9 4500 | #9 16,000 #1600 | #944000 | #9 146000
BHE - #9 300 - - - %9 300
SRR - #9 500 - - - #9 500
D %9 14,000 #9 5,000 #9 50 #9 200 #7700 | %4 27,000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #7300 #49 24000
o8 #9 1,000 #9 2,900 #9 1,400 # 50 £ 30 %9 5,400
mEE #9 76,000 %9 3,800 %9 3,100 #1500 #923000| #4 107,000
FIINE #9 28,000 #9 4,100 #9 400 #9100 #98800 | #39 42,000
ZiER #9 96,000 #6800 | %4 10000 #9400 | #939000 | #9 153000
S8 #9 147,000 #1200 #39 21,000 #5 1,100 #9 22000 | #9 192,000
fah 2 - #9200 #9 200 - #9510 #9 500
EEE - #9 20 - - - #7 20
RIGR - #9 10 #9 200 - - #5200
REEXE #9510 #9 2,900 #3920 #3920 #9 30 #9 3000
KRR #9 2,100 92400 | %9 12,000 #5 300 #9 300 #9 17,000
=GR #9 31,000 #3700 | #4 21,000 #1400 #913000| #9 69,000
BERER #9 80 #9 4,400 #9 800 # 20 #9 20 %9 5300
R - - #9 50 - - #4750

=K1 #91071,000 | %9 119000 | #3 156,000 #9 6600 | #5 660000 | %92012,000
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(MEBF NKEEKTEHT—R
LEREH GUES : BRI —R, RSO, £ 18 B, BEE 8m/s)

(#)
mho | wke | @k | FEER L it

LR - - #9310 - - 5 10
mARE - - - - - -
HER - - - - - -
BER - #3 600 - - #9 50 #9 600
TER - #350 |  #91.800 - #910| %9 13800
SRR #D - #9 800 #9 900 - #9100 | %9 1,900
HRIIR #9 10 500 | #9 2,700 - #790 |  #9 3400
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - # 10 #9510 #9 1,900
T #9 4,300 %9 600 - # 100 %43 800 %3 5,800
EHE #9500 #49 1,400 - #9 80 %9 40 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #5400 4 6,500
B2 IR #9 163,000 #3600 | #4 28000 #1500 | #935000| #J 230000
B #9 183000 |  #4 18000 #J 1,800 #9400 | #9 123000 | #9 326,000
=58 #9 141,000 #5800 | #4 28000 # 800 | #942000| #j 217,000
HEE #3 5,500 #9 2,400 - 70 #9 2,500 #9 10,000
RAR AT #9 7500 #49 3400 - #30| #956000| #9 67,000
KB FF #9 38000 |  #9 14,000 #9 30 #7100 | #4 262,000 | #4 314,000
EEER #9 20,000 #9 3,100 #9 1,300 #200| #918000| %y 43000
ZRE& #9 21,000 #9 4900 - #200| #913000| #9 38000
LR #9 81,000 #9 4500 | #9 16,000 #1600 | #945000 | #4 148000
BHE - #9 300 - - - %9 300
SRR - #9 500 - - - #9 500
fE L e #J 14,000 #J 5000 # 50 #1200 #910000| %9 29,000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #7400 | #4 24000
=]} #9 1,000 #J 2,900 %9 1,400 # 50 £ 30 %9 5,400
mEE #9 76,000 %9 3,800 %9 3,100 #1500 #923000| #4 107,000
FIINE #J 28,000 %7 4,100 %9 400 # 100 #910000| %y 43000
ERE #9 96,000 #6800 | %4 10000 #5400 | %9 50000 | #4 163,000
S8 #9 147,000 #1200 | #3 21000 #5 1,100 #9 26,000 | %3 197,000
fah 2 - #9200 #9 200 - #9510 #9 500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9 200 - - #5200
REEXE #9510 #9 2,900 #3920 #3920 #9 30 #9 3000
AR E #9 2,100 #2400 | #49 12000 %9 300 #1700 #45 18000
=GR #9 31,000 #3700 | #49 21,000 #1400 | #914000| #j 70000
BERER #9 80 #9 4,400 #9 800 # 20 #9 20 %9 5300
R - - #9 50 - - #4750

=K1 #91071,000 | %9 119000 | #3 156,000 #9 6600 | # 732,000 | #4 2,084,000
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(2) ERMANKES BT H57—X

LEREYH R EX7 R, 2R —XQ. 2RR. THEAR)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - #9110 #9 200
FERE - #9 20 #9 300 - - %9 400
9 - #9100 #9 200 - #4510 #9 400
EIN 10 #9 1,000 #9 200 10 #4520 #9 1,300
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
Ty #9 3,100 #9 600 - #9590 # 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 1,000 #1600 | #919000 | #4 174,000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 5400 | %3 79,000
—E& #9 61,000 #9 5,700 %9 9,300 #9 700 93100 | %3 79,000
HER #9100 #9 2,200 - # 20 #7510 #7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13,000 % 400 #9 40 #9100 | #9 17,000
EEER #9 3900 #49 2,700 %9 3,600 # 40 #3150 |  #3 10,000
ZRE& #9 1,600 #9 4,800 - # 100 #7 20 #4 6,500
LR #9 48,000 #9 4500 | #4 52,000 #9 500 #71,000 | #y 107,000
BHE - %10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 60 # 50 #9 20 #9 5,100
LEE - #9 6,800 %49 3,700 10 #3101  #5 11,000
=yt - #9 1,500 #9 1,200 - - #9 2,700
mEE #9 45,000 #3800 | #4 19,000 #9 400 #5000 | #9 73,000
EFNE #9 1,800 #9 3900 #1100 #9 40 #9 20 #9 6,900
ZRE #9 9400 #6100 | %9 12,000 #9 200 #9340  #327000
S8 %9 87,000 #1200 | #3 37,000 #5 1,000 #3 5400 | #Y 132,000
fah 2 - - #3 200 - - #9200
EEE - - - - - -
RIGR - - #9 300 - - #3 300
REEXE - #9 1,400 # 20 # 10 - %9 1,400
KRR #9 200 #92200| %9 12,000 #5 70 910 #9 14,000
=GR #9 9,500 #9 3600 | %3 18,000 #9 400 #3170  #9 32000
ERBE #9 30 #9 3900 %9 900 # 20 - #9 4,800
R - - #9 40 - - #9 40

=K1 #9 480000 | #9 102,000 | #9 173000 #9 4600 | #9 40000 | #3 799,000
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(2)iERMANKESBMKT H7—R

LEREH R EX7 R, 2R —XQ. 2RK. B&E 8n/s)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - 910 #9 200
FERE - #9 20 #9 300 - - #9 400
R AR - #9 100 #9 200 - #9 10 #9 400
EINN %10 #9 1,000 #9 200 #9 10 %9 20 %9 1,300
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
Ty #9 3,100 #9 600 - #9590 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 1,000 #1600 | #923000| #4 178000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 7900 | %3 82,000
—E& #9 61,000 #9 5,700 %9 9,300 #9 700 %9 4800 | %3 81,000
HER #9100 #9 2,200 - # 20 #7510 #7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13,000 % 400 #9 40 #3300 | #9 17,000
EEER #9 3900 #49 2,700 %9 3,600 # 40 #3150 |  #3 10,000
ZRE& #9 1,600 #9 4,800 - # 100 #7 20 #4 6,500
LR #9 48,000 #9 4500 | #4 52,000 #9 500 #7 4300 | #y 110000
BHE - #10 - - - #9110
SRR - - - - - -
i 1L R #5700 #9 4,300 #9 60 #3950 #9 20 #9 5,100
LEE - #9 6,800 %49 3,700 10 #3101  #5 11,000
=yt - #9 1,500 #9 1,200 - - #9 2,700
mER #9 45,000 #3800 | #4 19,000 #9 400 #5300 | #49 73000
EFNE #9 1,800 #9 3900 #1100 #9 40 #9 20 #9 6,900
ZRE #9 9400 #6100 | %9 12,000 #9 200 #9340  #327000
S8 %9 87,000 #1200 | #3 37,000 #5 1,000 97400 | %9 134,000
fah 2 - - #3 200 - - #9200
EEE - - - - - -
RIGR - - #9 300 - - %9 300
REEXE - #9 1,400 # 20 # 10 - %9 1,400
KRR #9 200 #92200| %9 12,000 #5 70 910 #9 14,000
=GR #9 9,500 #9 3600 | %3 18,000 #9 400 #9100 | %9 32,000
ERBE #9 30 #9 3900 %9 900 # 20 - #9 4,800
R - - #9 40 - - #9 40

=K1 #9 480000 | #9 102,000 | #9 173000 #9 4600 | #9 54000 | #J 813,000
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(2)iERMANKESBMKT H7—R

LEREYN R EX7 R, FRT7—XQ, B 128, FHEAE)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9 200 - - #9110 #9 200
FERE - #9 20 #9 300 - - %9 400
9 - #9100 #9 200 - #4730 #9 400
EIN 10 #9 1,000 #9 200 10 #4730 #9 1,300
FRE - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
Ty #9 3,100 #9 600 - #9590 # 20 #9 3,800
REHE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 1,000 #7600 | #926000| #4 180,000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 7500 | %3 81,000
—E& #9 61,000 #9 5,700 %9 9,300 #9 700 94300 | %3 81,000
HER #9100 #9 2,200 - # 20 #7510 #7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13,000 % 400 #9 40 #9100 | #9 17,000
EEER #9 3900 #49 2,700 %9 3,600 # 40 #3160 | #35 10000
ZRE& #9 1,600 #9 4,800 - # 100 #7 20 #4 6,500
LR #9 48,000 #9 4500 | #4 52,000 #9 500 #2500 | #4 108,000
EmME - %10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 60 # 50 #9 20 #9 5,100
LEE - #9 6,800 %49 3,700 10 #3101  #5 11,000
=yt - #9 1,500 #9 1,200 - - #9 2,700
mER #9 45,000 #3800 | #4 19,000 #9 400 #6300 | #9 74,000
FIINE #9 1,800 #9 3900 #1100 #9 40 #9 20 #9 6,900
ZRE #9 9400 #6100 | %9 12,000 #9 200 950 #927,000
=R #9 87,000 #91200| #39 37,000 #9 1,000 #76800 | #3 133000
fah 2 - - #3 200 - - #9200
EEE - - - - - -
RIGE - - #9 300 - - #3 300
REEXE - #9 1,400 # 20 # 10 #7510 #49 1,400
KRR #9 200 #92200| %9 12,000 #5 70 910 #9 14,000
=GR #9 9,500 #9 3600 | %3 18,000 #9 400 $980| #9 32000
ERBE #9 30 #9 3900 %9 900 # 20 - %9 4,800
R - - #9 40 - - #9 40

=K1 #9 480000 | #9 102,000 | #9 173000 #9 4600 | #9 54000 | #J 813,000
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(2)iERMANKESBMKT H7—R
LEREYH GBS EX7 -, FR7—XQ, B 128, BEE 8m/s)

(#)
mho | wke | @k | FEER L it

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - #9110 #9 200
FERE - #9 20 #9 300 - - #9 400
9 - #9100 #9 200 - #4730 #9 400
EIN #9510 #9 1,000 #9 200 # 10 #4930 %7 1,300
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - #9 90 9 20 %9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9500 #49 3200 - - £ 10 #5 3,700
B2 IR #9 149,000 #9 3,700 #9 1,000 #1600 | #930000| #4 184,000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 9500 | %3 83,000
=88 #9 61,000 %4 5,700 #5 9,300 #5 700 #9 6,300 #9 83,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #9200 #49 1,800 - - £ 20 %3 2,000
KB FF #3600 | %3 13000 #9 400 #9 40 #7900 | #4 18,000
EER #9 3900 #9 2,700 #9 3600 #9 40 60| %9 10000
ZRE& #9 1,600 #9 4,800 - #9 100 #7 20 %7 6,500
LR #9 48,000 #9 4500 | #4 52,000 #9 500 #5800 | #y 111,000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 60 #9 50 9 20 #49 5,100
LEE - #9 6,800 %49 3,700 # 10 #10] #3 11,000
=yt - #9 1,500 #9 1,200 - - #9 2,700
mEE #9 45,000 #3800 | #4 19,000 #9 400 #6500 | %49 74,000
EINE #9 1,800 %9 3900 #9 1,100 #9 40 £ 20 %9 6,900
ERE #9 9400 #6100 | %9 12,000 #9 200 #4950 %9 27,000
S8 %9 87,000 #1200 | #3 37,000 #5 1,000 #39000 | #9 135000
fah 2 - - #3 200 - - #7200
EEE - - - - - -
RIGR - - #9 300 - - %9 300
REEXE - #9 1,400 #9 20 # 10 £ 10 #1400
KRR #9 200 #92200| %9 12,000 £ 70 #9101 %9 14,000
=GR #9 9500 #3600 | %4 18000 #9 400 #7400 | %4 32,000
BERER #9 30 #9 3900 #9 900 # 20 - %9 4,800
R - - #9 40 - - #9 40

=K1 #9 480000 | #9 102,000 | #9 173000 #94600| #968000| #J 827000
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(2)iERMANKESBMKT H7—R
LEREYN R EX7 R, FRT7—XQ, £ 18 B, FHEAE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - #9 30 #9 200
FERE - #9 20 #9 300 - - #9 400
R AR - #9 100 #9 200 - #9 80 #9 400
R #5910  #91,000 #9 200 5 10 #5100  #49 1400
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - #9510 #9 1,100
Ty #9 3,100 #9 600 - #9590 970 #9 3,800
EHE - #49 500 - - #7510 #9 600
I B 12 #9 500 #49 3200 - - #4750 #45 3800
B2 IR #9 149,000 #9 3,700 #9 1,000 #1600 | #975000 | %4 229000
ZHIE #3 56000 | #9 18,000 #9 200 #3200 | #941000| #39 115000
—E& #9 61,000 #9 5,700 %9 9,300 #5700 |  #9 20000 | #9 96,000
HER #9100 #9 2,200 - # 20 #4750 #49 2,400
RAR AT #3 200 #49 1,800 - - #7200 4 2,200
KB FF #3600 | %3 13,000 % 400 340 #956000| #3 73000
EEER #9 3900 #49 2,700 %9 3,600 # 40 #7300 | #5 10000
ZRE& #9 1,600 #9 4,800 - # 100 #7100 #4 6,600
LR #9 48,000 #9 4500 | #4 52,000 #1500 #921000| #9 127000
BHE - %10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 60 # 50 #9 80 #9 5,200
LEE - #9 6,800 %49 3,700 10 30| #5 11,000
[lmy'=3 - 9 1,500 #5 1,200 - - #9 2,700
mEE #9 45,000 #93800 | #5 19000 #9400 | #917000| #4 85000
FIINE %9 1,800 %9 3900 #9 1,100 #9 40 #9 200 %9 7,000
ERE #9 9400 #9 6,100 | %3 12,000 #9 200 #9200 | #Y 27,000
S8 %9 87,000 #1200 | #3 37,000 #5 1,000 #317000 | %9 143,000
fah 2 - - #3 200 - - #9200
EEE - - - - - -
RIGR - - #9 300 - - %9 300
REEXE - #9 1,400 # 20 # 10 #7 30 #47 1,500
KRR #9 200 #92200| %9 12,000 #5 70 940 | #914000
=GR #9 9,500 #9 3600 | %3 18,000 #9 400 #5600 | %3 37,000
ERBE #9 30 #9 3900 %9 900 # 20 #9 20 #9 4,800
R - - #9 40 - - #9 40

=K1 #9 480000 | #9 102,000 | #9 173000 #9 4600 | #5 253000 | #91,012,000
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(2)iERMANKESBMKT H7—R
LEREYH GUEE : EX7 -, ZRT7—XQ, £ 18 B, EHE 8m/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
HEER - #9200 - - #9 30 #5200
FERE - #9 20 #9 300 - - %9 400
9 - #9100 #9 200 - #4780 #9 400
EIN 10 #9 1,000 #9 200 #7310 #7100 #49 1,400
FRE - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #1100 - - #5910 #9 1,100
ITETE %7 3,100 %9 600 - #5 90 #7 70 %7 3800
EHE - #49 500 - - #7510 #4600
I B 12 #9500 #9 3200 - - £ 50 %7 3800
B2 IR #9 149,000 #9 3,700 #9 1,000 #1600 | #979000 | #4 233000
ZHIE #3 56000 | #9 18,000 #9 200 #3200 | #944000 | #9 117,000
=88 #9 61,000 %4 5,700 #5 9,300 #5 700 #9 22,000 #9 98,000
HER #9100 #49 2,200 - #9 20 %9 50 #9 2,400
RAR AT #3 200 #49 1,800 - - #9 5500 #7500
KB FF #3600 | %3 13000 #9 400 #40 | #972000| #4 89,000
EEER #9 3900 #9 2,700 #49 3600 #9 40 #2000 | #4 12000
ZRE& #9 1,600 #9 4,800 - #9 100 #3200 #4 6,700
LR #9 48,000 #9 4500 | #4 52,000 #1500 | #923000 | #4 129000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 60 #9 50 £ 700 %9 5900
LEE - #9 6,800 #9 3,700 # 10 #130| #9 11,000
Ii=]= - #9 1,500 #9 1200 - - #9 2,700
mEE #9 45,000 #93800 | #5 19000 #9400 | #917000| #4 85000
EINE %9 1,800 %9 3900 #9 1,100 #9 40 #3400 #7 7,200
BERER #9 9,400 #9 6,100 | %9 12,000 #9 200 #1800 | #9 29,000
S8 %9 87,000 #1200 | #3 37,000 #5 1,000 #9 21000 | %9 147,000
fah 2 - - #3 200 - - #5200
EEE - - - - - -
RIGR - - #9 300 - - #9 300
AR - #9 1,400 # 20 10 9 30 9 1,500
KRR #9 200 #92200 | #912,000 £ 70 40| %9 14,000
=GR #9 9500 #3600 | %4 18000 #9 400 #6500 | %4 38000
ERBE #9 30 #9 3900 #9900 # 20 #9 20 #9 4,800
R - - #9 40 - - #9 40

=K1 #9 480000 | #9 102,000 | #9 173000 #9 4600 | #5 295000 | #91,054,000
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(2)iERMANKESBMKT H7—R

LEREH R : BRI, 2R —XQ. 2RR. THEAR)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E IR o DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - #9 50 #9 300 - - %9 400
9 - #9800 #9 200 - 5 20 #9 1,100
EINN % 10 #9500 #9 200 - #5 20 #9 800
FRE - - - - - -
EWE - - - - - -
aE - #9 40 - - - #9 40
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7 30 #4 5,100
REHE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 1,100 #9 500 #7 3000 | #y 171,000
ZHIE #9 183000 | %3 18,000 #9 200 #9400 | %9 34000 | #9 235000
=58 #9 141,000 #4 5800 #9 7,500 # 800 | #914000| #J 169,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - % 30 80| #3 11,000
KB FF #938000 | #9 14,000 %9 400 #9100 |  #936000 | #4 89,000
EEER #9 20,000 #49 3,100 %7 3,300 %9 200 #7200 #5 27000
ZRE& #9 21,000 #49 4,900 - %9 200 #3100 | %5 26000
LR #9 81,000 #9 4500 | %4 48,000 #1600 #913000| #4 147,000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %9 500
fE L e #J 14,000 #J 5000 % 60 %9 200 #7200 #49 19,000
LEE #7800 | #5 11000 %9 3,600 %9 300 #3160 | #3 23000
wag #9 1,000 #9 2,900 #9 1,200 # 50 #9 10 #9 5,100
mER #9 76,000 #3800 | #4 16,000 #9 500 #8300 | #4 105000
FIINE #J 28,000 %7 4,100 #J 1,000 # 100 #7500 | %4 34,000
ERE #9 96,000 #9 6,800 #9 9,600 #9 400 #9 7500 | #4 120,000
=S58 #49 147,000 #1200 | #4 35000 #9 1,100 #7900 | #4 192,000
fah 2 - #9200 #9 200 - - #9 400
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 300 - - %9 300
REEXE #9510 #9 2,900 # 20 # 20 £ 10 %9 2,900
AR E #9 2,100 #2400 | #49 11,000 %9 300 #3120  #5 16,000
=GR #9 31,000 #3700 #4 17,000 %9 400 #2400 | #4 54000
BERER #9 80 #9 4,400 #9900 #3920 - #9 5300
R - - #9 40 - - #9 40

=K1 #91071,000 | %9 119000 | #3 157,000 #9 6600 | #9 127,000 | #91,480,000
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(2)iERMANKESBMKT H7—R

LEREH RS BRI —R, RS5O, 2RK. BE 8n/s)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9 600 - - 910 #9 600
FEER - #9 50 #9 300 - - #9 400
9 - #9800 #9 200 - 5 20 #9 1,100
EINN % 10 #9500 #9 200 - #5 20 #9 800
FRE - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 40
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7 30 #4 5,100
EHFE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 1,100 #9 500 #3500 | #4 172,000
ZHIE #9 183000 | %3 18,000 #9 200 #3400 | #9 36000 | #3 237,000
—E& #9 141,000 #9 5,800 %9 7,500 #3800 | #916000| #3 171,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #938000 | #9 14,000 %9 400 #7100 | #950000 | #9 103,000
EEER #9 20,000 #49 3,100 %7 3,300 %9 200 #7800 | %5 28000
ZRE& #9 21,000 #49 4,900 - %9 200 #7500 | %5 26,00
LR #9 81,000 #9 4500 | %4 48,000 #1600 #915000 | #4 149000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
D #J 14,000 #J 5000 % 60 %9 200 #7900 | #4 20000
LEE #7800 | #5 11000 %9 3,600 %9 300 #3160 | #3 23000
wag #9 1,000 #9 2,900 #9 1,200 # 50 #9 10 #9 5,100
mEE #9 76,000 #3800 | #4 16,000 #9 500 #8400 | #4 106,000
FIINE #J 28,000 %7 4,100 #J 1,000 %9 100 #1300 | #4 35000
ERE #9 96,000 #9 6,800 #9 9,600 #5400 | %9 12000 | #4 125,000
=S58 #49 147,000 #1200 | #4 35000 #1100 #910000 | #4 194,000
fah 2 - #9200 #9 200 - - #9 400
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 300 - - %9 300
REEXE #9510 #9 2,900 # 20 # 20 £ 10 %9 2,900
AR E #9 2,100 #2400 | #49 11,000 #9 300 #3120  #5 16,000
=GR #9 31,000 #3700 | #917,000 #9 400 #3200 | #3 55000
ERBE #9 80 #9 4,400 #9900 #3920 - #9 5300
R - - #9 40 - - #9 40

=K1 #91071,000 | %9 119000 | #3 157,000 #9 6600 | #9 159,000 | #91,512,000
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(2)iERMANKESBMKT H7—R
LEREH GUEE : BRI —R, BRS7—XQ, B 128, FHEE)

(#)
= 7 s 2lERH ol 46 =
Eh k1 i ool 5 At

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - # 50 #9 300 - #9110 #9 400
9 - #9800 #9 200 - #5 40 #9 1,100
EINN % 10 #9500 #9 200 - #5 20 #9 800
FRE - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 50
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7 30 #4 5,100
EHFE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 1,100 #9 500 #73800 | #y 172,000
ZHIE #9 183000 | %3 18,000 #9 200 #3400 | #9 39000 | #3 240,000
—E& #9 141,000 #9 5,800 %9 7,500 #3800 | #917000| #3 172,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - # 30 #7100 |  #9 11,000
KB FF #938000 | #9 14,000 %9 400 #9100 | #941000 | #9 94000
EEER #9 20,000 #49 3,100 %7 3,300 %9 200 #7500 |  #5 27000
ZRE& #9 21,000 #49 4,900 - %9 200 #3100 | %5 26000
LR #9 81,000 #9 4500 | %4 48,000 #1600 #916000| #9 150,000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
fE L e #J 14,000 #J 5000 % 60 %9 200 #7300 #49 19000
LEE #7800 | #5 11000 %9 3,600 %9 300 #3170  #5 23000
o8 #9 1,000 #9 2,900 #9 1,200 # 50 £ 10 %9 5,100
mEE #9 76,000 #3800 | #4 16,000 #1500 #910000 | #4 107,000
g #9 28,000 #9 4,100 #9 1,000 #9100 #9900 | #Y 35000
BERER #9 96,000 # 6,800 #9 9,600 #9 400 #9 9200 | #Y 122,000
S8 #9 147,000 #1200 | #3 35000 #5 1,100 #9500 | #9 193,000
fah 2 - #9200 #9 200 - - #9 400
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 300 - - %9 300
REEXE #9510 #9 2,900 #3920 #3920 #9110 #9 2,900
AR E #9 2,100 #2400 | %4 11,000 #9 300 #3120  #5 16,000
=GR #9 31,000 #3700 | #917,000 #9 400 #93300 | %3 55000
ERBE #9 80 #9 4,400 #9900 # 20 #9 10 #9 5300
R - - #9 40 - - #9 40

=K1 #91071,000 | %9 119000 | #3 157,000 #9 6600 | #9 151,000 | #91,504,000
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(2)iERMANKESBMKT H7—R
LEREH GUEE : BRI —R, RS —XQ, B 12 B, BEE 8m/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 %9 600
FERE - # 50 #9 300 - #9110 #9 400
HIRED - #9 800 #9 200 - #9 40 #9 1,100
EIN #9510 #9500 #9 200 - £ 20 #4800
FRE - - - - - -
EWE - - - - - -
aE - #9 40 - - - #3 50
=HE - #9 1,900 - #9510 - #9 1,900
ITETE #9 4,300 %9 600 - # 100 #7 30 %9 5,100
EHE #9500 #49 1,400 - #9 80 %9 10 #9 2,000
I B 12 #9 2,700 #9 3400 - # 20 #7 30 %9 6,200
B2 IR #9 163,000 #9 3,600 #9 1,100 #9 500 #9 4400 | #4 173,000
ZHIE #9 183000 | %3 18,000 #9 200 #9400 | #9 42000 | #3 243,000
=58 #49 141,000 #4 5800 #9 7,500 #1800 | #918000| #J 174,000
HEE #9 5500 #9 2400 - #5 70 £ 50 %49 8,000
RAR AT #9 7500 #9 3400 - #9 30 #1700 |  #49 12000
KB FF #9 38000 |  #9 14,000 #9 400 #1100 | #959000 | #4 112000
EEER #9 20,000 #9 3,100 #49 3,300 #9 200 #1400 | #4 28000
ZRE& #9 21,000 #9 4900 - #9 200 #1500 | %4 26,000
LR #9 81,000 #9 4500 | %4 48,000 #1600 #918000 | #4 152,000
BHE - #9 300 - - - #5300
ERE - #3 500 - - - %3 500
fE L e #J 14,000 #J 5000 % 60 %9 200 #1100 %4 20000
LEE %9 7800 | #9 11,000 #49 3600 #9 300 #70] #3 23000
i my=t #9 1,000 #9 2,900 #9 1,200 #9 50 910 #9 5,100
mEE #9 76,000 #93800 | #5 16000 #9500 | #9 10000 | #4 107,000
g #9 28,000 #9 4,100 #9 1,000 #9100 #9 1800 | %3 35000
ERE #9 96,000 #9 6,800 #9 9,600 #9400 | #9 15000 | #9 127,000
=S58 #49 147,000 #1200 #4 35000 #1100 #912000| #J 196,000
fah 2 - #9200 #9 200 - - #9 400
EEE - #9 20 - - - #9 20
RIGR - #9310 #9 300 - - %9 300
REEXE #9510 #9 2,900 #3920 #3920 #9110 #9 2,900
AR E #9 2,100 #2400 | #49 11,000 %9 300 #120] %4 16,000
Bl #9 31,000 #3700 #4 17,000 %9 400 #4100 #4 56,000
ERBE #9 80 #9 4,400 #9900 # 20 #9 10 #9 5300
R - - #9 40 - - #9 40

=K1 #91071,000 | %9 119000 | #3 157,000 #9 6600 | #5 189,000 | #91,542,000
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(2)iERMANKESBMKT H7—R
LEREH UED : BRI —R, RS —XQ, £ 18 B, FHEE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E IR o DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9 50 #9 600
FERE - # 50 #9 300 - #9110 #9 400
HIRED - #9 800 #9 200 - #9100 #9 1,200
EIN #9510 #9500 #9 200 - #9 90 #7900
FRE - - - - - -
EWE - - - - - -
aE - #9 40 - - - #9 50
=HE - #9 1,900 - # 10 910 #9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7200 #4 5,300
REHE #9 500 #9 1400 - #9 80 #9 40 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #7300 #4 6,400
B2 IR #9 163,000 #9 3,600 #9 1,100 #1500 | #928000| #4 196000
ZHIE #9 183000 | %3 18,000 #9 200 #9400 | #9 123000 | #9 324,000
—E& #9 141,000 #9 5,800 %9 7,500 #7800 | #944000 | #9 199,000
HEE #9 5500 #9 2400 - # 70 #9 1,000 #9 9,000
RAR AT #9 7500 #49 3400 - #9730 | #946000| #y 57,000
KB FF #938000 | #9 14,000 %9 400 #9100 | #9 243000 | #9 296,000
EEER #9 20,000 #49 3,100 %9 3300 #9200 | #912000| #4 39,000
ZRE& #9 21,000 #49 4,900 - %9 200 #9 6700 | #5 33000
LR #9 81,000 #9 4500 | %4 48,000 #1600 | #936000| #J 170000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %9 500
D #J 14,000 #J 5000 % 60 %9 200 #7700 #45 27000
LEE #7800 | #5 11000 %9 3,600 %9 300 #7300 | %5 23000
wag #9 1,000 #9 2,900 #9 1,200 # 50 #9 30 #9 5,100
mER #9 76,000 #3800 | #4 16,000 #1500 #922000| #4 119000
EINE #J 28,000 %7 4,100 #J 1,000 # 100 #8800 | #4 42000
ZRE #5 96,000 #5 6,800 #9600 #7400 | %9 39,000 | #J 152,000
=S58 #49 147,000 #1200 #4 35000 #7 1,100 | #9 20000 | #J 204,000
fah 2 - #9200 #9 200 - #9510 #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 300 - - %9 300
REEXE #9510 #9 2,900 #3920 #3920 #9 30 #9 3000
AR E #9 2,100 #2400 | #49 11,000 %9 300 #9300 | #49 16,000
Bl #9 31,000 #3700 #4 17,000 #1400 | #914000| %9 66,000
BERER #9 80 #9 4,400 #9900 # 20 #9 20 #9 5400
R - - #9 40 - - #9 40

=K1 #91071,000 | %9 119000 | #3 157,000 #9 6600 | #9 652000 | %9 2,006000
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(2)iERMANKESBMKT H7—R
LEREH GUEE : BRI —R, RS —XQ, £ 18 B, EE 8m/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9 50 %9 600
FERE - # 50 #9 300 - #9110 #9 400
HIRED - #9 800 #9 200 - #9100 #9 1,200
EIN #9510 #9500 #9 200 - #9 90 #7900
FRE - - - - - -
EWE - - - - - -
aE - #9 40 - - - #3 50
=HE - #9 1,900 - #9510 #9510 #9 1,900
ITETE #9 4,300 %9 600 - # 100 %43 800 %3 5,800
EHE #9500 #49 1,400 - #9 80 %9 40 #9 2,000
I B 12 #9 2,700 #9 3400 - # 20 £ 400 #7 6,500
B2 IR #9 163,000 #9 3,600 #9 1,100 #1500 | #936000| %4 204,000
ZHIE #9 183000 | %3 18,000 #9 200 #9400 | #9 123000 | #9 324,000
=58 #9 141,000 #4 5800 #9 7,500 # 800 | #945000| #J 200000
HEE #9 5500 #9 2400 - #5 70 #2500 | %4 10,000
RAR AT #9 7500 #9 3400 - #30| #956000| %9 67,000
KB FF #9 38000 |  #9 14,000 #9 400 #7100 | #4 262,000 | #4 314,000
EEER #9 20,000 #9 3,100 #49 3,300 #200| #918000| %y 45000
ZRE& #9 21,000 #9 4900 - #200| #913000| #9 38000
LR #9 81,000 #9 4500 | %4 48,000 #1600 #937000| #9171,000
BHE - #9 300 - - - #5300
ERE - #3 500 - - - %3 500
fE L e #J 14,000 #J 5000 % 60 #1200 #910000| %9 29,000
LEE %9 7800 | #9 11,000 #49 3600 #9 300 #7400 | #4 23000
i my=t #9 1,000 #9 2,900 #9 1,200 #9 50 #9 30 #9 5,100
mEE #9 76,000 #93800 | #5 16000 #9500 | #921000| #9 119000
FE #9 28,000 #9 4,100 #9 1,000 #5100 | #910000 | %9 44,000
ERE #9 96,000 #9 6,800 #9 9,600 #9400 | #950000 | #9 163000
=S58 #49 147,000 #1200 #4 35000 #1100 | #924000| #j 208000
fah 2 - #9200 #9 200 - #9510 #9 500
EEE - #9 20 - - - #9 20
RIGR - #9310 #9 300 - - %9 300
REEXE #9510 #9 2,900 #3920 #3920 #9 30 #9 3000
AR E #9 2,100 #2400 | #49 11,000 %9 300 #1700 #417000
Bl #9 31,000 #3700 #4 17,000 #1400 | #914000| %9 66,000
ERBE #9 80 #9 4,400 #9 900 #9 20 %9 20 #9 5,400
R - - #9 40 - - #9 40

=K1 #91071,000 | %9 119000 | #3 157,000 #9 6600 | #9 724,000 | #42,077,000
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(3) HEMANKES BT H57—X

LEREH R EX7—R, BRI —R@, 2RR. FHEAR)

(#8)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
En &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
HmER - #9200 - - £ 10 #9 200
FERE - #9 20 #9 200 - - #9 200
9 - #9100 #9300 - #4510 #9 400
EIN #9510 #9 1,000 #9 80 # 10 £ 20 #7 1,100
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #919000| #4 173000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 5400 | %3 79,000
=88 #9 61,000 %4 5,700 #3 5,800 #5 700 #9 3,100 #9 76,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 400 #9 40 #7100 | #4 17,000
EEER #9 3900 #49 2,700 %9 2,800 # 40 #4750 #49 9,500
ZRE& #9 1,600 #9 4,800 - #9 100 #7 20 %7 6,500
LR #9 48,000 #9 4500 | #4 25,000 #9 500 #1200 | #4 80,000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 #49 3800 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,500 - - #9 3,100
mEE #9 45,000 #3800 | #4 13000 #9 400 #5200 %49 67,000
FE #9 1,800 #9 3900 #9 2,000 # 40 #9 20 #9 7,700
ERE #9 9400 #9 6,100 | %3 13,000 #9 200 #9540 %9 29,000
S8 %9 87,000 #1200 | #357,000 #5 1,000 #4900 | #Y 151,000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 500 - - %9 500
REEXE - #9 1,400 #9 50 10 - #9 1,500
KRR #9 200 #92200| #9 16,000 £ 70 10| %9 19,000
=GR #9 9,500 #3600 | #9 13000 #5400 70 #9 27,000
ERBE #9 30 #9 3900 #9 1,600 # 20 - %9 5500
PREE - - 9 60 - - #9 60

=K1 #9 480000 | #9 102,000 | #9 158000 #94600 | #939000| #3 783000
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QEEMAENARES BT H7—R

LEREH RS EX7—R, BRI —R@, 2RK. B&E 8n/s)

(#8)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
En &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - #9110 #9 200
FERE - #9 20 #9 200 - - #9 200
9 - #9100 #9300 - #4510 #9 400
eI #10|  #9 1,000 #1 80 %10 #20]  #91,100
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #923000| #4 177,000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 7900 | %3 81,000
=88 #9 61,000 %4 5,700 #3 5,800 #5 700 #9 4,900 #9 78,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 400 #9 40 #7300 | #4 17,000
EEER #9 3900 #49 2,700 %9 2,800 # 40 #4750 #49 9,500
ZRE& #9 1,600 #49 4800 - #9 100 £ 20 %7 6,500
LR #9 48,000 #9 4500 | #4 25,000 #9 500 #6100 | % 84,000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 #49 3800 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,500 - - #9 3,100
mEE #9 45,000 #3800 | #4 13000 #9 400 #5500 | %4 68,000
FE #9 1,800 #9 3900 #9 2,000 # 40 #9 20 #9 7,700
ERE #9 9400 #9 6,100 | %3 13,000 #9 200 #9540 %9 29,000
S8 %9 87,000 #1200 | #357,000 #5 1,000 #6700 | #3 153000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 500 - - %9 500
REEXE - #9 1,400 #9 50 10 - #9 1,500
KRR #9 200 #92200| #9 16,000 £ 70 10| %9 19,000
=GR #9 9,500 #3600 | #9 13000 #5400 #9100 #9 27,000
ERBE #9 30 #9 3900 #9 1,600 # 20 - %9 5500
PREE - - 9 60 - - #9 60

=K1 #9 480000 | #9 102,000 | #9 158000 #94600 | #955000| #3 799,000
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QEEMAENARES BT H7—R

LEREYN R EX7 R, FRS @, B 128, FHEE)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
HmER - #9200 - - £ 10 #9 200
FERE - #9 20 #9 200 - - %9 200
9 - #9100 #9300 - #4730 #9 400
EIN #9510 #9 1,000 #9 80 # 10 #4930 #7 1,100
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #7600 | #926000| #4 180,000
EHME #3 56000 | #9 18,000 #9 200 #9 200 #7500 | %49 81,000
=88 #9 61,000 %4 5,700 #3 5,800 #5 700 #9 4,300 #9 77,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 400 #9 40 #7100 | #4 17,000
EEER #9 3900 #49 2,700 %9 2,800 # 40 #4760 #49 9,500
ZRE& #9 1,600 #9 4,800 - #9 100 #7 20 %9 6,500
LR #9 48,000 #9 4500 | #4 25,000 #9 500 #3700 | %4 82,000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 #49 3800 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,500 - - #9 3,100
mEE #9 45,000 #93800 | #5 13000 #9 400 #9 6500 |  #39 69,000
EFNE #9 1,800 #9 3900 #9 2,000 # 40 #9 20 #9 7,700
ERE #9 9400 #9 6,100 | %3 13,000 #9 200 #50| %9 29,000
S8 %9 87,000 #1200 | #357,000 #5 1,000 #6200 | #9 152,000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 500 - - %9 500
REEXE - #9 1,400 #9 50 10 #9110 #9 1,500
KRR #9 200 #92200| #9 16,000 £ 70 10| %9 19,000
=GR #9 9500 #3600 | #4 13,000 #9 400 %380 #327000
ERBE #9 30 #9 3900 #9 1,600 # 20 - %9 5500
PREE - - 9 60 - - #9 60

=K1 #9 480000 | #9 102,000 | #9 158000 #9 4600 |  #9 54000 | #J 798,000
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QEEMAENARES BT H7—R
LEREYN RS EX7 -, FRS—R@, T 128, BE 8n/s)

(#8)
mho | wke | @k | FEER L it

R - - - - - -
mARR - - - - - -
HER - - - - - -
HmER - #9200 - - £ 10 #9 200
FERE - #9 20 #9 200 - - #9 200
9 - #9100 #9300 - #4730 #9 400
EIN 10 #9 1,000 #9 80 10 #4730 #91,100
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #930000| #4 184,000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 9500 | %3 83,000
=88 #9 61,000 %4 5,700 #3 5,800 #5 700 #9 6,500 #9 79,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 400 #9 40 #7900 | #4 18,000
EEER #9 3900 #49 2,700 %9 2,800 # 40 #4760 #49 9,500
ZRE& #9 1,600 #49 4800 - #9 100 £ 20 %7 6,500
LR #9 48,000 #9 4500 | #4 25,000 #9 500 #8500 | %4 87,000
BHE - #9 10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 #49 3800 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,500 - - #9 3,100
mEE #9 45,000 #3800 | #4 13000 #9 400 #6700 | %9 69,000
FE #9 1,800 #9 3900 #9 2,000 # 40 #9 20 #9 7,700
ERE #9 9400 #9 6,100 | %3 13,000 #9 200 #50| %9 29,000
S8 %9 87,000 #1200 | #357,000 #5 1,000 #8100 | #Y 154,000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 500 - - %9 500
REEXE - #9 1,400 #9 50 10 #9110 #9 1,500
KRR #9 200 #92200| #9 16,000 £ 70 10| %9 19,000
=GR #9 9,500 #3600 | #9 13000 #5400 #9 400 #9 27,000
ERBE #9 30 #9 3900 #9 1,600 # 20 - %9 5500
R - - #9 60 - - #9 60

=K1 #9 480000 | #9 102,000 | #9 158000 #9 4600 | #9 70000 | #3J 814,000
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QEEMAENARES BT H7—R
LEREYN RS EX7 R, FRT7 @, £ 18 B, FHEAE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - #9 30 #9 200
FERE - #9 20 #9 200 - - #9200
R AR - #9 100 #9 300 - #9 80 #9 500
AR #310| %9 1,000 #9 80 9 10 #9100  #91200
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - #9510 #9 1,100
Ty #9 3,100 #9 600 - #9590 970 #9 3,800
EHE - #49 500 - - £ 10 #9 600
I B 12 #9 500 #49 3200 - - #4750 #45 3800
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #975000 | %4 229000
ZHIE #3 56000 | #9 18,000 #9 200 #3200 | #941000| #39 115000
—E& #9 61,000 #9 5,700 %9 5,800 #3700 |  #920000 | #9 93,000
HER #9100 #9 2,200 - # 20 #4750 #49 2,400
RAR AT #3 200 #49 1,800 - - #7200 4 2,200
KB FF #3600 | %3 13,000 % 400 340 #956000| #3 73000
EEER #9 3900 #49 2,700 %9 2,800 # 40 #7300 #47 9,800
ZRE& #9 1,600 #9 4,800 - # 100 #7100 #4 6,600
LR #9 48,000 #9 4500 | #4 25,000 #1500 | #926000 | #J 104000
BHE - %10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 # 50 #9 80 #9 5,200
LEE - #9 6,800 #49 3800 10 30| #5 11,000
=]t - #9 1500 #9 1,500 - - #9 3100
mEE #9 45,000 #3800 | #4 13000 #7400 #917000| #3 79000
g #9 1,800 #9 3900 #9 2,000 # 40 #3 200 #9 7,900
ERE #9 9400 #6100 | %9 13000 #9 200 #9200 | #Y 29,000
S8 %9 87,000 #1200 | #357,000 #5 1,000 #9 15000 | %3 161,000
fah 2 - - #3 200 - - #9200
EEE - - - - - -
RIGR - - #9 500 - - %9 500
REEXE - #9 1,400 # 50 # 10 #7 30 #47 1,500
AR E #9200 #2200 | #49 16,000 # 70 #3401 #5 19,000
=GR #9 9500 #3600 | #4 13,000 #9 400 #5600 | %9 33000
ERBE #9 30 #9 3900 #9 1,600 # 20 #9 20 #9 5500
R - - #9 60 - - 3 60

=K1 #9 480000 | #9 102,000 | #9 158000 #9 4600 | #9 257,000 | #41,001,000
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QEEMAENARES BT H7—R
LEREYH OB EX 77—, FRS—R@, £ 18 B, BEHE 8m/s)

(#)
mho | wke | @k | FEER L it

R - - - - - -
mARR - - - - - -
HER - - - - - -
HmER - #9200 - - #4530 #9 200
FERE - #9 20 #9 200 - - #9 200
9 - #9100 #9300 - #4780 #9 500
HRINER #310]  #9 1,000 #9 80 #9 10 #9100 | %9 1,200
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - #9510 #9 1,100
WEE #9 3,100 #9 600 - #9 90 #9570 #9 3,800
EHE - #49 500 - - #7510 #9 600
I B 12 #9 500 #49 3200 - - #4750 #45 3800
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #979000 | #4 233000
ZHIE #3 56000 | #9 18,000 #9 200 #3200 | #9 44000 | #3 117,000
=88 #9 61,000 %4 5,700 #3 5,800 #5 700 #9 22,000 #9 95000
HER #9100 #49 2,200 - # 20 £ 50 %9 2,400
RAR AT #3 200 #49 1,800 - - #9 5500 #7500
KB AF 33600 |  #J 13000 #9 400 #5940 | #972000 | #9 89,000
ZER #33900 | #92700|  #9 2800 #40| #92000 | #§ 12,000
ZRE #9 1600 | #4 43800 - #9100 #9200 |  #96,700
AR LR 948000 |  #9 4500 | #J 25000 #3500 | #928000 | #9 107000
BHE - %10 - - - %10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 700 %9 5,900
LEE - #9 6,800 #49 3800 10 30| #5 11,000
[lmy'=3 - %9 1,500 #5 1,500 - - #9 3,100
mEE #9 45,000 #3800 | #4 13000 #7400 #917000| #3 79000
g #9 1,800 #9 3900 #9 2,000 # 40 #9 400 #9 8,100
ZRE #9 9400 #6100 | %9 13000 #9 200 #1800 | #3 30,000
S8 %9 87,000 #1200 | #357,000 #5 1,000 #9 18000 | %3 164,000
fah 2 - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 500 - - %9 500
REEXE - #9 1,400 #9 50 10 #9 30 #9 1,500
KRR #9 200 #92200| #9 16,000 £ 70 #9540 %9 19,000
=GR #9 9500 #3600 | #4 13,000 #9 400 #9 6500 | %4 33000
ERBE #9 30 #9 3900 #9 1,600 # 20 #9 20 %9 5500
R - - #9 60 - - 3 60

=K1 #9 480000 | #9 102,000 | #9 158000 #9 4600 | #5 299000 | #91,043000
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QEEMAENARES BT H7—R

LEREH R : BRI —R, 2R —R@, 2RR. THER)

(#)
= 7 s 2lERH ol 46 =
Eh k1 i ool 5 At

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 600 - - 910 #9 600
FERE - #9 50 #9 200 - - #9200
HIRED - #9800 #9 300 - 5 20 #9 1,100
EINN % 10 #9 500 #9 80 - %9 20 #9 600
HRR - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 40
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] %9 4,300 #9 600 - #9 100 #7 30 #4 5,100
EHFE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 600 #9 500 #7 3000 | #y 171,000
ZHIE #9 183000 | %3 18,000 #9100 #9400 |  #9 34000 | #3 235,000
—E& #9 141,000 #9 5,800 %9 4,700 #3800 | #9 14000 | #3 166,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - # 30 80| #3 11,000
KB FF #938000 | #9 14,000 %9 400 #9100 | #936000 | #4 88000
EEER #9 20,000 #49 3,100 %9 2,600 %9 200 #7200 %5 26000
ZRE& #9 21,000 #49 4,900 - %9 200 #3100 | %5 26000
LR #9 81,000 #9 4500 |  #49 22,000 #1600 | #914000 | #4 123000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
D %9 14,000 #9 5,000 %9 80 #9 200 #7200 #5 19000
LEE #7800 | #5 11000 %9 3,700 %9 300 #3160 | #3 23000
wag #9 1,000 #9 2,900 #9 1500 # 50 #9 10 #9 5400
mEE #9 76,000 #3800 | #4 12,000 #9 500 #9 8500 | #4 101,000
FIINE %9 28,000 %9 4,100 %9 1,800 %9 100 #7500 | %4 35000
ZiER #9 96,000 #6800 | #4 11,000 #9 400 #9 7500 | %9 122,000
S8 #9 147,000 #1200 | #3 52000 #5 1,100 #5 7200 | #5 209,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 500 - - %9 500
REEXE #9510 #9 2,900 #9 50 #3920 #9110 #9 3000
KRR #9 2,100 $9 2400 | %9 16,000 #5 300 % 20 #9 21,000
=GR #9 31,000 #93700 | #3 13,000 #9 400 #2400 | %3 50,000
ERBE #9 80 #9 4,400 #9 1,600 #3920 - #9 6,000
R - - #9 60 - - 3 60

=K1 #91071,000 | #9 119000 | #3 144,000 #9 6600 | #5 128000 | #91,468000
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QEEMAENARES BT H7—R

LEREH RS : BRI —R, 2R —X@, 2RKR. BE 8n/s)

(#)
= 7 s 2lERH ol 46 =
Eh k1 i ool 5 At

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - #9 50 #9 200 - - %9 200
HIRED - #9 800 #9 300 - #9 20 #9 1,100
EIN #9510 #9500 #9 80 - £ 20 #7600
HRR - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 40
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] %9 4,300 #9 600 - #9 100 #7 30 #4 5,100
EHFE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 600 #9 500 #3500 | #4 171,000
ZHIE #9 183000 | %3 18,000 #9100 #3400 | #9 36000 | #3 237,000
—E& #9 141,000 #9 5,800 %9 4,700 #3800 | #916000| #9 168000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #938000 | #9 14,000 %9 400 #7100 | #950000 | #9 103,000
EEER #9 20,000 #49 3,100 %9 2,600 %9 200 #7900 | #5 27000
ZRE& #9 21,000 #49 4,900 - %9 200 #7500 | %5 26,00
LR #9 81,000 #9 4500 |  #49 22,000 #1600 #918000 | #4 126000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
D %9 14,000 #9 5,000 %9 80 #9 200 #7900 | %4 20000
LEE #7800 | #5 11000 %9 3,700 %9 300 #3160 | #3 23000
wag #9 1,000 #9 2,900 #9 1500 # 50 #9 10 #9 5400
mEE #9 76,000 #3800 | #4 12,000 #9 500 #8700 | #4 101,000
FIINE %9 28,000 %9 4,100 %9 1,800 %9 100 #1300 | #4 36,000
ZRE #9 96,000 #6800 | %9 11,000 #5400 | %9 12000 | #3 127,000
S8 #9 147,000 #1200 | #3 52000 #5 1,100 $5 9400 | #Y 211,000
fah 2 - #9200 #9 200 - - #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 500 - - %9 500
REEXE #9510 #9 2,900 #9 50 #3920 #9110 #9 3000
KRR #9 2,100 $9 2400 | %9 16,000 #5 300 % 20 #9 21,000
=GR #9 31,000 #93700 | #3 13,000 #9 400 #3300 | #351,000
ERBE #9 80 #9 4,400 #9 1,600 #3920 - #9 6,000
R - - #9 60 - - 3 60

=K1 #91071,000 | #9 119000 | #3 144,000 #9 6600 | #9 161,000 | #51,501,000
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QEEMAENARES BT H7—R
LEREH RS BRI —R, RS —R@, B 128, FHEE)

(#)
= 7 s 2lERH ol 46 =
Eh k1 i ool 5 At

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - # 50 #9 200 - #9110 %9 300
HIRED - #9 800 #9 300 - #9 40 #9 1,100
EIN #9510 #9500 #9 80 - #4520 %7 700
HRR - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 50
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] %9 4,300 #9 600 - #9 100 #7 30 #4 5,100
EHFE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 600 #9 500 #73800 | #y 171,000
ZHIE #9 183000 | %3 18,000 #9100 #3400 | #9 39000 | #3 240,000
—E& #9 141,000 #9 5,800 %9 4,700 #3800 | #917000| #39 169,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - # 30 #7100 |  #9 11,000
KB FF #938000 | #9 14,000 %9 400 #9100 | #941000 | #9 94000
EEER #9 20,000 #49 3,100 %9 2,600 %9 200 #7500 |  #5 27000
ZRE& #9 21,000 #49 4,900 - %9 200 #3100 | %5 26000
LR #9 81,000 #9 4500 |  #49 22,000 #1600 #918000 | #4 127,000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
D %9 14,000 #9 5,000 %9 80 #9 200 #7300 | #4 19,000
LEE #7800 | #5 11000 %9 3,700 %9 300 #3170  #5 23000
wag #9 1,000 #9 2,900 #9 1500 # 50 #9 10 #9 5400
mER #9 76,000 #3800 | #4 12,000 #1500 #910000 | #4 103000
FIINE %9 28,000 %9 4,100 %9 1,800 %9 100 #7900 | %4 35000
ERE #9 96,000 #6800 | %9 11,000 #9 400 #9200 | #9 123000
S8 #9 147,000 #1200 | #3 52000 #5 1,100 #8700 | #4 210000
fah 2 - #9200 #9 200 - - #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 500 - - %9 500
REEXE #9510 #9 2,900 #9 50 #3920 #9110 #9 3000
KRR #9 2,100 $9 2400 | %9 16,000 #5 300 % 20 #9 21,000
=GR #9 31,000 #93700 | #3 13,000 #9 400 #3300 | #351,000
ERBE #9 80 #9 4,400 #9 1,600 # 20 #9 10 #9 6,000
R - - #9 60 - - 3 60

=K1 #91071,000 | #9 119000 | #3 144,000 #9 6600 | #5 153000 | #91,493000
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QEEMAENARES BT H7—R
LEREH GRS : BRI —R, RS —X@, T 128, BE 8n/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - # 50 #9 200 - #9110 %9 300
HIRED - #9 800 #9 300 - #9 40 9 1,100
EIN #9510 #9500 #9 80 - #4520 %7 700
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - # 10 - %9 1,900
WEE #9 4,300 #9 600 - #9 100 #9 30 #9 5,100
EHFE #9500 #9 1,400 - £ 80 910 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 600 #9 500 #9 4400 | #4 172,000
ZHIE #9 183000 | %3 18,000 #9100 #9400 | #9 42000 | #3 243,000
=58 #9 141,000 #4 5800 #9 4,700 #1800 | #919000| #j 171,000
HEE #9 5500 #9 2,400 - #5 70 #9 50 %49 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #9 38000 |  #9 14,000 #9 400 #1100 | #959000 | #4 112000
EEER #9 20,000 #9 3,100 #49 2,600 #9 200 #1400 | #4 28000
ZRE& #9 21,000 #9 4900 - #9 200 #1500 | %4 26,000
LR #9 81,000 #9 4500 |  #49 22,000 #1600 #921000| #4 130000
BHE - #9 300 - - - %9 300
SRR - #3 500 - - - #9 500
fE L e #J 14,000 #J 5000 # 80 %9 200 #1100 %4 20000
LEE %9 7800 | #9 11,000 %49 3,700 #9 300 #70] #3 23000
g #9 1,000 #9 2,900 #9 1,500 # 50 £ 10 %9 5,400
mER #9 76,000 #3800 | #4 12,000 #1500 #910000 | #4 103000
FIINE #J 28,000 %7 4,100 %9 1,800 %9 100 #1800 | #4 36,000
ZiER #9 96,000 #76800 | #9 11,000 #3400 | #915000 | #3 129,000
=S58 #49 147,000 #1200 #4 52000 #1100 #911000| #j 212,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9 500 - - #9500
REEXE #9510 #9 2,900 #9 50 #3920 #9110 #9 3000
KRR #9 2,100 $9 2400 | %9 16,000 #5 300 % 20 #9 21,000
=GR #9 31,000 #3700 | #4 13,000 #9 400 #4200 | #4 52,000
ERBE #9 80 #9 4,400 #9 1,600 # 20 #9 10 #9 6,000
R - - #9 60 - - 3 60

=K1 #91071,000 | #9 119000 | #3 144,000 #9 6600 | #9 192,000 | #91,532,000
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QEEMAENARES BT H7—R
LEREH R BRI —R, RS —R@, £ 18 B, FHEE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9600 - - #9 50 #9 600
FERE - # 50 #9 200 - #9110 %9 300
HIRED - #9 800 #9 300 - #9100 #9 1,200
EIN #9510 #9500 #9 80 - #7 90 %7 700
HRR - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 50
=HE - #9 1,900 - # 10 #9510 #9 1,900
ITETE] %9 4,300 #9 600 - #9 100 #7200 #4 5,300
EHFE #9 500 #9 1400 - #9 80 #9 40 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #7300 #4 6,400
B2 IR #9 163,000 #9 3,600 #9 600 #1500 | #928000| #4 196000
ZHIE #9 183000 | %3 18,000 #9100 #9400 | #9 123000 | #9 324,000
—E& #9 141,000 #9 5,800 %9 4,700 #3800 | #944000 | #3 197,000
HEE #9 5500 #9 2400 - # 70 #9 1,000 #9 9,000
RAR AT #9 7500 #49 3400 - #9730 | #946000| #y 57,000
KB FF #938000 | #9 14,000 %9 400 #9100 | #9 243000 | #9 296,000
EEER #9 20,000 #49 3,100 %9 2,600 #9200 | #912000| #4 39,000
ZRE& #9 21,000 #49 4,900 - %9 200 #9 6700 | #5 33000
LR #9 81,000 #9 4500 |  #49 22,000 #1600 #941000| #9 150000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
D %9 14,000 #9 5,000 %9 80 #9 200 #7700 | %4 27,000
LEE #7800 | #5 11000 %9 3,700 %9 300 #7300 | %5 23000
=yt #9 1,000 #9 2,900 #9 1,500 #9 50 9 30 #9 5400
mER #9 76,000 #3800 | #4 12,000 #1500 #922000| #4 115000
FIINE %9 28,000 %9 4,100 %9 1,800 %9 100 #8800 | %4 43000
ERE #9 96,000 #6800 | %9 11,000 #9400 | %9 39000 | #3 153,000
S8 #9 147,000 #1200 | #3 52000 #5 1,100 #9 18000 | #3 219,000
fah 2 - #9200 #9 200 - #9510 #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 500 - - %9 500
REEXE #9510 #9 2,900 #9 50 #3920 #9 30 #9 3000
KRR #9 2,100 $9 2400 | %9 16,000 #5 300 #9 300 #9 21,000
=GR #9 31,000 #93700 | #3 13,000 #7400 | #914000| #961,000
ERBE #9 80 #9 4,400 #9 1,600 # 20 #9 20 %9 6,100
R - - #9 60 - - 3 60

=K1 #91071,000 | #9 119000 | #3 144,000 #9 6600 | #9 657,000 | %91,997,000
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QEEMAENARES BT H7—R
LEREH GUES : BRI —R, RS —R@, £ 18 B, BEE 8m/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #3 600 - - #9 50 #9 600
TER - #3 50 #3 200 - 5 10 #9300
SRR #D - #9 800 #9 300 - #9100 | %9 1,200
EINN % 10 #9 500 #9 80 - %9 90 #9 700
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - # 10 #9510 #9 1,900
T #9 4,300 %9 600 - # 100 %43 800 %3 5,800
EHE #9500 #49 1,400 - #9 80 %9 40 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #5400 4 6,500
B2 IR #9 163,000 #9 3,600 #9 600 #1500 | #936000| #4 203000
ZHIE #9 183000 | %3 18,000 #9100 #9400 | #9 123000 | #3 324,000
=58 #9 141,000 #4 5800 #9 4,700 # 800 | #945000| #J 198000
HEE #3 5,500 #9 2,400 - 70 #9 2,500 #9 10,000
RAR AT #9 7500 #49 3400 - #30| #956000| #9 67,000
KB FF #9 38000 |  #9 14,000 #9 400 #7100 | #4 262,000 | #4 314,000
EEER #9 20,000 #9 3,100 #49 2,600 #200| #918000| %y 44,000
ZRE& #9 21,000 #9 4900 - #200| #913000| #9 38000
LR #9 81,000 #9 4500 |  #49 22,000 #1600 | #943000| #9 151,000
BHE - #9 300 - - - %9 300
SRR - #3 500 - - - #9 500
fE L e #J 14,000 #J 5000 # 80 #1200 #910000| %9 29,000
LEE %9 7800 | #9 11,000 %49 3,700 #9 300 #7400 | #4 24000
o8 #9 1,000 #9 2,900 #9 1,500 # 50 £ 30 %9 5,400
mEE #9 76,000 #3800 | #4 12,000 #1500 #922000 | #4 114000
FIINE %9 28,000 %9 4,100 %9 1,800 #1100 | #910000 | #9 45000
ERE #9 96,000 #6800 | %9 11,000 #5400 | %9 50000 | # 164,000
S8 #9 147,000 #1200 | #3 52000 #5 1,100 #9 21000 | #9 223,000
fah 2 - #9200 #9 200 - #9510 #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 500 - - #9 500
REEXE #9510 #9 2,900 #9 50 #3920 #9 30 #9 3000
AR E #9 2,100 %9 2400 | #4 16,000 #9 300 #7700 | %4 22,000
=GR #9 31,000 #3700 | #4 13,000 #1400 #915000| #9 62000
ERBE #9 80 #9 4,400 #9 1,600 # 20 #9 20 %9 6,100
R - - #9 60 - - 3 60

=K1 #91071,000 | #9 119000 | #3 144,000 #9 6600 | # 728000 | #42,069,000
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(4) AWt ANKRES KT H57—X

LEREH R EX7—R, 2R —XO., 2RR. THER)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
HmER - #9200 - - £ 10 #9 200
FERE - #9 20 #9 200 - - #9 200
9 - #9100 #9300 - #4510 #9 400
EIN #9510 #9 1,000 #9 90 # 10 £ 20 #7 1,100
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #919000| #4 173000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 5400 | %3 79,000
=88 #9 61,000 %4 5,700 #5 7,300 #5 700 #9 3,100 #9 77,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 200 #9 40 #7100 | #4 17,000
EEER #9 3900 #49 2,700 %9 2,500 # 40 #4750 #4 9,200
ZRE& #9 1,600 #49 4800 - #9 100 £ 20 %7 6,500
LR #9 48,000 #9 4500 | #3 28,000 #9 500 #1200 | #4 82,000
BHE - %10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 %9 4,100 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,800 - - #9 3400
mER #9 45,000 %9 3,800 %9 9,100 #9 400 #5200 %49 63000
EFNE #9 1,800 #9 3900 #9 2,000 # 40 #9 20 #9 7,700
ZREER #9 9400 #6100 | #5 18000 #9 200 #340| #3 34000
S8 %9 87,000 31200 | #9 54,000 #5 1,000 #3 5000 | #9 148000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 700 - - #9 700
REEXE - #9 1,400 #3970 10 - #9 1,500
KRR #9 200 #92200| #49 26,000 £ 70 10| %9 29,000
=GR #9 9500 #3600 | %4 28000 #9 400 #9360 #941000
ERBE #9 30 #9 3900 #9 2,400 # 20 - %9 6,300
R - - #9190 - - #5 90

=K1 #9 480000 | #9 102,000 | #9 185000 #9 4600 | %9 40000 | #3J 811,000
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(HAMBERKRES KT H7—R

LEREH R EX7—R, 2RO, 2RK. BE 8n/s)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9200 - - #7310 #7200
FERE - #9 20 #9 200 - - %9 200
9 - #9100 #9 300 - #4510 #9 400
EIN #9510 #9 1,000 #9 90 # 10 £ 20 #7 1,100
FRE - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
HWRE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
REHE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #923000| #4 177,000
EHME #3 56000 | #9 18,000 #9 200 #9 200 #7900 | #%39 81,000
=88 #9 61,000 %4 5,700 #5 7,300 #5 700 #9 4,900 #9 79,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 200 #9 40 #7300 | #4 17,000
EEER #9 3900 #49 2,700 %9 2,500 # 40 #4750 #4 9,200
ZRE& #9 1,600 #9 4,800 - #9 100 #7 20 %9 6,500
LR #9 48,000 #9 4500 | #3 28,000 #9 500 #6300 | % 87,000
BHE - # 10 - - - %510
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 %9 4,100 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,800 - - #9 3400
mEE #9 45,000 #9 3800 #9 9,100 #9 400 #95500 |  #39 64,000
EFNE #9 1,800 #9 3900 #9 2,000 # 40 #9 20 #9 7,700
ZREER #9 9400 #6100 | #5 18000 #9 200 #340| #3 34000
=R #9 87,000 #91200 | #3 54,000 #9 1,000 #36900 | #3 150000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 700 - - #9 700
REEXE - #9 1,400 #3970 10 - #9 1,500
KRR #9 200 #92200| #49 26,000 £ 70 10| %9 29,000
=GR #9 9500 #3600 | %4 28000 #9 400 #9390 |  #941000
BERER #9 30 #9 3900 #9 2,400 # 20 - %9 6,300
PREE - - 9 90 - - #9 90

=K1 #9 480000 | #9 102,000 | #9 185000 #9 4600 | #9 55000 | #J 827,000
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(HAMBERKRES KT H7—R

LEREH RS EX7 R, FR7 RO, B 128, FHEE)

(#)
o) e B %xf@ﬁ\-l-fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 200 - - #9110 #9 200
FERE - #9 20 #9 200 - - %9 300
9 - #9100 #9300 - #4730 #9 400
eI #10|  #9 1,000 # 90 %10 #30]  #91,100
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
EHFE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #7600 | #926000| #4 180,000
ZHIE #3 56000 | #9 18,000 #9 200 % 200 #9 7500 | %3 81,000
=88 #9 61,000 %4 5,700 #5 7,300 #5 700 #9 4,300 #9 78,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 200 #9 40 #7100 | #4 17,000
EEER #9 3900 #49 2,700 %9 2,500 # 40 #4760 #4 9,200
ZRE& #9 1,600 #49 4800 - #9 100 £ 20 %7 6,500
LR #9 48,000 #9 4500 | #3 28,000 #9 500 #3900 | #4 85000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 %9 4,100 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,800 - - #9 3400
mER #9 45,000 %9 3,800 %9 9,100 #9 400 #6600 | %9 65000
FIINE #9 1,800 #9 3900 #9 2,000 #9 40 #9 20 %9 7,800
ERE #9 9400 #96100 | %3 18000 #3 200 $950| #9 34,000
=518 #9 87,000 #1200 | %3 54000 #9 1,000 #9 6300 | #9 149,000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 700 - - #9 700
REEXE - #9 1,400 #3970 10 #9110 #9 1,500
KRR #9 200 #92200| #49 26,000 £ 70 10| %9 29,000
=GR #9 9,500 #3600 | #3 28000 #5400 70 #9 41,000
ERBE #9 30 #9 3900 #9 2,400 # 20 - %9 6,300
PREE - - 9 90 - - #9 90

=K1 #9 480000 | #9 102,000 | #9 185000 #9 4600 | #9 55000 | #J 826,000

— 1’)?:75\

CESHEOHEEREL. YVODHELILEITOIEMNTRELTEY . BFEMNDORELHHEE

IBEELOTRAVENHD. T-. HEEADEFR TEFHNELLENEENH D,

_74_



(HAMBERKRES KT H7—R
LEREYH RS EX7 -, FR5 RO, B 128, BE 8n/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9200 - - £ 10 #7200
FERE - #9 20 #9 200 - - %9 300
9 - #9100 #9 300 - #4730 #9 400
EIN #9510 #9 1,000 #9 90 # 10 #4930 #7 1,100
FRE - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - - #9 1,100
WEE #9 3,100 #9 600 - # 90 #9 20 #9 3,800
REHE - #9 500 - - - #9 500
I B 12 #9 500 #49 3200 - - #7510 4 3,700
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #930000| #4 183000
EHME #3 56000 | #9 18,000 #9 200 #9 200 #9500 | %39 83,000
=88 #9 61,000 %4 5,700 #5 7,300 #5 700 #9 6,400 #9 81,000
HER #9100 #49 2,200 - # 20 £ 10 %7 2,300
RAR AT #3 200 #49 1,800 - - #7 20 #47 2,000
KB FF #3600 | %3 13000 #9 200 #9 40 #7900 | #4 18,000
EEER #9 3900 #49 2,700 %9 2,500 # 40 #4760 #4 9,200
ZRE& #9 1,600 #9 4,800 - #9 100 #7 20 %9 6,500
LR #9 48,000 #9 4500 | #3 28,000 #9 500 #8800 | %4 90,000
BHE - # 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 20 %9 5200
LEE - #9 6,800 %9 4,100 10 #3101  #5 11,000
[lmy'=3 - %9 1,500 #5 1,800 - - #9 3400
mEE #9 45,000 #9 3800 #9 9,100 #9 400 #96800 | #3 65000
EINE #9 1,800 %9 3900 #9 2,000 #9 40 £ 20 %9 7.800
ERE #9 9400 #96100 | %3 18000 #3 200 $950| #9 34,000
=R #9 87,000 #91200 | #3 54,000 #9 1,000 #98300 | #3 151,000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 700 - - #9 700
REEXE - #9 1,400 #3970 10 #9110 #9 1,500
KRR #9 200 #92200| #49 26,000 £ 70 10| %9 29,000
=GR #9 9,500 #3600 | #3 28000 #5400 #9 400 #9 42,000
BERER #9 30 #9 3900 #9 2,400 # 20 - %9 6,300
PREE - - 9 90 - - #9 90

=K1 #9 480000 | #9 102,000 | #9 185000 #9 4600 | #9 71000 | #9 842,000
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(HAMBERKRES KT H7—R
LEREYN RS EX 7R, FR7 RO, £ 18 B, FHEE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9 200 - - #9 30 #9 200
FERE - #9 20 #9 200 - - %9 300
9 - #9100 #9 300 - #4780 #9 500
EIN 10 #9 1,000 #9 90 #7310 #7100 #91,200
FRE - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - 910 #9 1,100
Ty #9 3,100 #9 600 - #9590 # 70 #9 3,800
EHE - #49 500 - - £ 10 #4600
I B 12 #9 500 #49 3200 - - #4750 #45 3800
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #975000 | %4 229000
ZHIE #3 56000 | #9 18,000 #9 200 #3200 | #941000| #9 115000
=88 #9 61,000 %4 5,700 #5 7,300 #5 700 #9 20,000 #9 94,000
HER #9100 #9 2,200 - # 20 #4750 #49 2,400
RAR AT #3 200 #49 1,800 - - £ 200 4 2,200
KB FF #3600 | %3 13,000 # 200 340 #956000| #3 73000
EEER #9 3900 #49 2,700 %9 2,500 # 40 #7300 #49 9400
ZRE& #9 1,600 #9 4,800 - # 100 #7100 #4 6,600
LR #9 48,000 #9 4500 | #3 28,000 #1500 | #926000| #4107,000
EmME - %10 - - - %9 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 80 %9 5200
LEE - #9 6,800 %9 4,100 10 30| #5 11,000
g - #9 1500 #9 1,800 - - #9 3400
mER #9 45,000 %9 3,800 %9 9,100 #1400 #917000| #9 76000
g #9 1,800 #9 3900 #9 2,000 # 40 #3 200 #9 7,900
ERE #9 9400 #96100 | %3 18000 #3 200 #9200 | %9 34000
=R #9 87,000 #91200 | #3 54,000 #1000 | #916000 | #J 158000
fah 2 - - #3 200 - - #9200
EEE - - - - - -
RIGR - - #9700 - - % 700
REEXE - #9 1,400 # 70 # 10 #7 30 %9 1,500
KRR #3 200 #2200 | #4 26,000 #5 70 #930| #9 29,000
=GR #9 9500 #3600 | %4 28000 #9 400 #5600 | %9 47,000
BERER #9 30 #9 3900 #9 2,400 # 20 #9 20 #9 6,400
R - - #9190 - - #5 90

=K1 #9 480000 | #9 102,000 | #9 185000 #9 4600 | #5 258000 | #3 1,029,000
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(HAMBERKRES KT H7—R
LEREYH GBS EX7 -, FR7—XO®, £ 18 B, BEE 8m/s)

(#)
mho | wke | @k | FEER L it

R - - - - - -
mARR - - - - - -
HER - - - - - -
HmER - #9200 - - £ 30 #9 200
FERE - #9 20 #9 200 - - %9 300
9 - #9100 #9 300 - %9 80 %3 500
EINN %10 #9 1,000 #9 90 #9510 #9100 #9 1,200
HRR - - - - - -
EWE - - - - - -
AR - - - - - -
=HE - #9 1,100 - - #9510 #9 1,100
WEE #9 3,100 #9 600 - # 90 #9570 #9 3,800
EHE - #49 500 - - #7510 #9 600
I B 12 #9 500 #49 3200 - - #4750 #45 3800
B2 IR #9 149,000 #9 3,700 #9 500 #1600 | #979000 | #4 233000
ZHIE #3 56000 | #9 18,000 #9 200 #3200 | #9 44000 | #3 117,000
=88 #9 61,000 %4 5,700 #5 7,300 #5 700 #9 22,000 #9 96,000
HER #9100 #49 2,200 - # 20 £ 50 %9 2,400
RAR AT #3 200 #49 1,800 - - #9 5500 #7500
KB FF #3600 | %3 13000 #9 200 #40 | #972000| #4 89,000
EEER #9 3900 #9 2,700 #9 2,500 #9 40 #2000 | #4 11,000
ZRE& #9 1,600 #9 4,800 - #9 100 #3200 #4 6,700
LR #9 48,000 #9 4500 | #3 28,000 #1500 #929000| #4 110000
BHE - #9 10 - - - £ 10
SRR - - - - - -
fiE L2 #3 700 #9 4,300 #9 80 #9 50 £ 700 %9 5,900
LEE - #9 6,800 %9 4,100 10 30| #5 11,000
[lmy'=3 - %9 1,500 #5 1,800 - - #9 3400
mEE #9 45,000 %9 3,800 %9 9,100 #1400 #917000| #9 76000
g #9 1,800 #9 3900 #9 2,000 # 40 #9 400 #9 8,100
BIREE #9 9400 #9 6,100 | %9 18,000 #9 200 #1700 | %9 35000
S8 %9 87,000 31200 | #9 54,000 #5 1,000 #9 19000 | #3 162,000
f2fE R - - #9 200 - - #9 200
EEE - - - - - -
RIGR - - #9 700 - - #9 700
REEXE - #9 1,400 #3970 10 #9 30 #9 1,500
KRR #9 200 #92200| #49 26,000 £ 70 #30| %9 29,000
=GR #9 9500 #3600 | %4 28000 #9 400 #6400 | % 48000
ERBE #9 30 #9 3900 #9 2,400 # 20 #9 20 #9 6,400
R - - #9190 - - #5 90

=K1 #9 480000 | #9 102,000 | #9 185000 #9 4600 | #5 300000 | #91,071,000
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(HAMBERKRES KT H7—R

LEREH RS : BRI —R, 2R -0, 2RR. THER)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - #9 50 #9 200 - - %9 300
HIRED - #9 800 #9 300 - #9 20 #9 1,100
EIN #9510 #9500 #9 90 - £ 20 %7 700
FRE - - - - - -
EWE - - - - - -
aNg - #9 40 - - - #9 40
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7 30 #4 5,100
REHE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 500 #9 500 #7 3000 | #y 171,000
ZHIE #9 183000 | %3 18,000 #9100 #9400 | %9 34000 | #9 235000
—E& #9 141,000 #9 5,800 %9 6,000 #3800 | #914000| #3 167,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - % 30 80| #3 11,000
KB FF #9 38000 |  #9 14,000 #9 200 #1100 | #936000| %9 88000
EEER #9 20,000 #49 3,100 #9 2,200 %9 200 #7200 %5 26000
ZRE& #9 21,000 #49 4,900 - %9 200 #3100 | %5 26000
LR #9 81,000 #9 4500 | #4 25,000 #1600 #915000 | #4 126000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %9 500
fE L e #J 14,000 #J 5000 # 80 %9 200 #7200 #49 19,000
LEE #7800 | #5 11000 %9 3900 %9 300 #3160 | #3 23000
o8 #9 1,000 #9 2,900 %9 1,800 # 50 £ 10 #9 5,700
mEE #9 76,000 #9 3800 #9 7,900 #3 500 #98600 | #9 97000
FIINE %9 28,000 %9 4,100 %9 1,800 %9 100 #7500 | %4 35000
ERE #9 96,000 #6800 | %9 15000 #9 400 #9 7500 | #4 126,000
S8 #9 147,000 31200 | #39 48000 #5 1,100 #5 7200 | #Y 205000
fah 2 - #9200 #9 200 - - #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 700 - - %9 700
REEXE #9510 #9 2,900 #3970 #3920 #9110 #9 3000
KRR #9 2,100 #2400 | #3 26,000 #9300 20|  #931,000
=GR #9 31,000 #3700 | #4 26,000 #9 400 #2400 | %4 63000
BERER #9 80 #9 4,400 #9 2,400 #3920 - #9 6,900
R - - #9190 - - #5 90

=K1 #91071,000 | %9 119000 | #3 169,000 #9 6600 | #9 128000 | #91,493000
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(HAMBERKRES KT H7—R

LEREH R : BRI —R, 2R —XO., 2RKR. BE 8n/s)

(#)
= e 4 s v ol 46 =
Eh k1 i ool 5 At

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9 600 - - 910 #9 600
FEER - #9 50 #9 200 - - #9300
9 - #9800 #9 300 - 5 20 #9 1,100
EINN % 10 #49 500 #9 90 - %9 20 #9 700
FRE - - - - - -
EWE - - - - - -
aE - #9 40 - - - #9 40
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7 30 #4 5,100
EHFE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 500 #9 500 #3500 | #4 171,000
ZHIE #9 183000 | %3 18,000 #9100 #3400 | #9 36000 | #3 237,000
=58 #9 141,000 #4 5800 #49 6,000 #800| #916000| #J 169,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #938000 | #9 14,000 %9 200 #7100 |  #9 50000 | #9 102,000
EEER #9 20,000 #49 3,100 #9 2,200 %9 200 #7900 | #5 27000
ZRE& #9 21,000 #49 4,900 - %9 200 #7500 | %5 26,00
LR #9 81,000 #9 4500 | #4 25,000 #1600 #918000 | #4 129000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %3 500
D #J 14,000 #J 5000 # 80 %9 200 #7900 | %5 20000
LEE #7800 | #5 11000 %9 3900 %9 300 #3160 | #3 23000
wag #9 1,000 #9 2,900 #9 1,800 # 50 #9 10 #9 5,700
mER #9 76,000 %9 3,800 %9 7900 #9 500 #8700 | %4 97,000
FIINE #J 28,000 %7 4,100 #J 1,800 # 100 #1300 | #4 36,000
ERE #9 96,000 #6800 | %9 15000 #5400 | %9 12000 | #4 131,000
=518 #9 147,000 #1200 | #3 48000 #9 1,100 #9500 | %9 207,000
fah 2 - #9200 #9 200 - - #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 700 - - %9 700
REEXE #9510 #9 2,900 #3970 #3920 #9110 #9 3000
KRR #9 2,100 #2400 | #3 26,000 #9300 20|  #931,000
Bl #9 31,000 #3700 | #4 26000 %9 400 #3200 | #4 64000
ERBE #9 80 #9 4,400 #9 2,400 #3920 - #9 6,900
R - - #9190 - - #5 90

=K1 #91071,000 | %9 119000 | #3 169,000 #7 6600 | #9 161,000 | #91,527,000
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(HAMBERKRES KT H7—R
LEREH UEE : BRI —R, BRSO, B 128, FHEE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E IR o DY &t

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - #9110 #9 600
FERE - # 50 #9 200 - #9110 %9 300
HIRED - #9 800 #9 300 - #9 40 #9 1,100
EIN #9510 #9500 #9 90 - £ 20 %7 700
FRE - - - - - -
EWE - - - - - -
aE - #9 40 - - - #9 50
=HE - #9 1,900 - # 10 - %9 1,900
ITETE] #9 4,300 %9 600 - # 100 #7 30 #4 5,100
REHE #9 500 #9 1400 - #9 80 #9510 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 500 #9 500 #73800 | #y 171,000
ZHIE #9 183000 | %3 18,000 #9100 #9400 | %9 39,000 | #9 240,000
—E& #9 141,000 #9 5,800 %9 6,000 #7800 | #917000| #5 170,000
HEE #9 5500 #9 2400 - # 70 #9 50 #9 8,000
RAR AT #9 7500 #49 3400 - % 30 #7100 |  #9 11,000
KB FF #938000 | #9 14,000 %9 200 #9100 | #941000| #4 93000
EEER #9 20,000 #49 3,100 #9 2,200 %9 200 #7500 | %5 26,00
ZRE& #9 21,000 #49 4,900 - %9 200 #3100 | %5 26000
LR #9 81,000 #9 4500 | #4 25,000 #1600 #918000| #4 130,000
BHE - #9 300 - - - %9 300
ERE - #3 500 - - - %9 500
D #J 14,000 #J 5000 # 80 %9 200 #7300 #49 19000
LEE %9 7800 | #9 11,000 %9 3900 %9 300 #3170  #5 23000
wag #9 1,000 #9 2,900 #9 1,800 # 50 #9 10 #9 5,700
mEE #9 76,000 #9 3800 #9 7,900 #1500 | #910000 | #4 99,000
FIINE #J 28,000 %7 4,100 #J 1,800 %9 100 #7900 | %4 35000
ERE #9 96,000 #6800 | %9 15000 #9 400 #9 9200 | #4 128,000
=S58 #49 147,000 #1200 #4 48000 #9 1,100 #8700 | #4 207,000
fah 2 - #9200 #9 200 - - #9 500
EEE - #9 20 - - - #7 20
RIGR - #9310 #9 700 - - %9 700
REEXE #9510 #9 2,900 #3970 #3920 #9110 #9 3000
KRR #9 2,100 #2400 | #3 26,000 #9300 20|  #931,000
=GR #9 31,000 #3700 | #4 26,000 #9 400 #3300 | #4 64,000
BERER #9 80 #9 4,400 #9 2,400 # 20 #9 10 #9 6,900
R - - #9190 - - #5 90

=K1 #91071,000 | %9 119000 | #3 169,000 #9 6600 | #5 153000 | #91,518000
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(HAMBERKRES KT H7—R
LEREH GRS : BRI —R, BRSO, B 128, BE 8n/s)

(#)
mho | wke | @k | FEER L it

RWE - - - - - -
mARE - - - - - -
HER - - - - - -
BER - #9600 - - £ 10 #9 600
FERE - # 50 #9 200 - #9110 %9 300
HIRED - #9 800 #9 300 - #9 40 #9 1,100
EIN #9510 #9500 #9590 - #4520 %7 700
FRE - - - - - -
EWE - - - - - -
AR - %9 40 - - - £ 50
=HE - #9 1,900 - # 10 - %9 1,900
WEE #9 4,300 #9 600 - #9 100 #9 30 #9 5,100
EHFE #9500 #9 1,400 - £ 80 910 #9 2,000
I B 12 #9 2,700 #49 3400 - # 20 #4730 #4 6,200
B2 IR #9 163,000 #9 3,600 #9 500 #9 500 #9 4400 | #4 172,000
ZHIE #9 183000 | %3 18,000 #9100 #9400 | #9 42000 | #3 243,000
=58 #9 141,000 #4 5800 #49 6,000 #800| #919000| #j 172,000
HEE #9 5500 #9 2,400 - #5 70 #9 50 %49 8,000
RAR AT #9 7500 #49 3400 - # 30 #3700 |  #5 12000
KB FF #9 38000 |  #9 14,000 #9 200 #1100 | #959000 | #4 112000
EEER #9 20,000 #9 3,100 #49 2,200 #9 200 #1400 | #4 27000
ZRE& #9 21,000 #9 4900 - #9 200 #1500 | %4 26,000
LR #9 81,000 #9 4500 | #4 25,000 #1600 #921000| #9 133000
BHE - #9 300 - - - %9 300
SRR - #3 500 - - - #9 500
fE L e #J 14,000 #J 5000 # 80 %9 200 #1100 %4 20000
LEE %9 7800 | #9 11,000 %49 3900 #9 300 #70] #3 23000
o8 #9 1,000 #9 2,900 %9 1,800 # 50 £ 10 #9 5,700
mER #9 76,000 %9 3,800 %9 7900 #1500 #911000| #9 99000
FIINE #J 28,000 %7 4,100 %9 1,800 %9 100 #1800 | #4 36,000
TER #9 96,000 #96800| #3 15000 #3400 | #915000 | #3 133000
S8 #9 147,000 31200 | #39 48000 #5 1,100 #911000 | %3 209,000
fah 2 - #9200 #9 200 - - #9500
EEE - #9 20 - - - #7 20
RIGE - #9 10 #9700 - - #5700
REEXE #9510 #9 2,900 #3970 #3920 #9110 #9 3000
KRR #9 2,100 #2400 | #3 26,000 #9300 20|  #931,000
=GR #9 31,000 #3700 | #4 26,000 #9 400 #4100 | #4 65000
ERBE #9 80 #9 4,400 #9 2,400 # 20 #9110 %9 6,900
R - - #9190 - - #5 90

=K1 #91071,000 | %9 119000 | #3 169,000 #9 6600 | #9 192,000 | #51,557,000
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(HAMBERKRES KT H7—R
LEREH UEE : BRI —R, BRSO, £ 18 B, FHEE)

(#)
o) e B %\1@$4fﬁ‘. 1T V339 =.
ZEh &IR1E b 905 i DY &t

R - - - - - -
mARR - - - - - -
HER - - - - - -
BER - #9 600 - - #9 50 #9 600
FERE - #9 50 #9 200 - #5910 #9300
SR AR - #9 800 #9 300 - #9100 #9 1,200
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